o4

[ =]

=25

K2177

Zpd-opat

HY/HIE olo|x|

iz

J

;

() (@

ZQIE 40/45 E}2| B

© HEINRICH KIPP WERK GmbH & Co. KG

Kinn

oY
THEL:
27 &d20E CHo|FHAR.CIME 3l Ot& & AEl F{H & 3 F{H

ot 501

. ERtAEIE 17 E0|0|E: 4R 0|E CHOIFHARLLEAL 9H=| ATe
=

A

==

o+ Al °*ED| A2 T M QIME 2l npEt
7{H E'ﬂr F{HHZH: RAL 70422} S Al
= 1H Z00|E: 4R 0| AHE M LIAL MM U T2 HE: &

A
1]

#3

°*EDIE Z20tel2 ALE5t0] 7HE A2 &2 ME S| {Ft HAZ
H-0tEt ZQIE 6 ~ 0.5Nme| 15842 M3&le 1 ot& E3E o
-0} =QIEo| EAQILICE 360° 3|M 7IS. OBIE x|4= 4004 A 45

HEHES MZE = 7122 T20HY Eof LIALZ 17H5to4 0t F0|
Z20YUol 2o R UXISHES # = U&LICHOtE ZQIE Hg Al
B IR EE HHOR T2 0tol| RAE £ &LIcH YHo| A
72 304 Eof| LEAFAF M8 (E|A Z10] 20mm)O| QJo{oF HL|C TT 5t
Edo| ¥aE 42 M3E & 1Y EB0IE= ZHESHA MAELIC

%) E3 88 M2 45 NmL|C}.

=a L.

1 HAZAH-OE X9E

1 F{HZY

1 LIAF DIN EN ISO 4762 (DIN 912) - M8x45 (Ot ZQIE SHT &%
HES)

1 LAl DIN EN ISO 4762 (DIN 912) - M8x25 (12 SHT &2 LHEE)
1 LFAF DIN EN ISO 4762 (DIN 912) - M8x50 (OF2F ZQIE &1 F0{ &
8)

1 LFA} DIN EN ISO 4762 (DIN 912) - M8x30 (42 5™ 30{ £8)
2 LtAF 8-FSt

1& 1Y Z80|E-£2 10-45x%x45
1& 1M Z00|E-£2 10-40x40
2T&2 iE-AEm M8

www.kipp.com - info@kipp.com 1/3



K2177

HZM-OrE =Q21E 40/45 EH B

|

Hn

[
M max.
A
O,

N

T

T

_E i ( Y s
T
R3
30 045
e mmm— e E—
r_g_,—.\ :
o
e
=29
o1ZiM-OfE XOIE 40/45 EF B

F2HS Et 2] &% 4] E3 M
Nm Nm
K2177.005 B 10 0,5 45
K2177.030 B 10 3 45
K2177.060 B 10 6 45
K2177.090 B 10 9 45
K2177.120 B 10 12 45
K2177.150 B 10 15 45

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



iZdM-O1E =01 40/45 EFRI B

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



